
cfly{s aif{ 2075.076

qm=;= cfo lzif{sx? ut aif{sf] cNof of] aif{sf] hDdf ? hDdf /sd ?
cfufdL aif{sf nfuL 

k|:tfljt /sd

s s/ /fhZj

1 :yfgLo pkof]u s/ 0 0 0.0 0.0

2 cGo 0 0 0.0 0.0

0 0 0.0 0.0

v u}/s/ /fhZj 0.0 0.0

1 ;]jf z"Ns-xnef8f ;d]t_ 176000.0 38000.0 214000.0 150000.0

2 b:t"/ -3/ef8f_ 1346000.0 785830.0 2131830.0 850000.0

3 ljlqm -k|f]h]S6/ ef8f _ 0.0 1200.0 1200.0 3000.0

4 b08h/Ljfgf 0.0 0.0 0.0 0.0

5 cGo ljlaw -lhNnf b]//]6_ 0.0 400.0 400.0 1000.0

0.0 0.0

u /fhZj af8+kmf+8 cfo 0.0 0.0

1 /lhi6«]«zg b:t"/-3/hUuf_ dfnkf]t sfof{no jf6 k|fKt 3547052.0 0.0 3547052.0 0.0

2 ko{^g k|j]z z"Ns 0.0 0.0 0.0 0.0

3 hn ljB"t /f]oN6L 0.0 0.0 0.0 0.0

4 vfgL /f]oN6L 0.0 0.0 0.0 0.0

5 kj{tf/f]x0f /f]oN6L 0.0 0.0 0.0 0.0

6 uflj; jf6 dfnkf]t jfkt k|fKt 0.0 0.0 0.0 0.0

7 laleGg sf]ifsf] cfDbfgL -ut ljut_ 3248123.2 0.0 3248123.2 0.0

8 phf{ tyf jftfj/0f ljsf; sf]if 1708000.0 0.0 1708000.0 0.0

10025175.2 825430.0 10850605.2 1004000.0s"n hDdf ?

g]kfn ;/sf/ 

;+3Lo dfldnf tyf ;fdfGo k|zf;g dGqfno

lhNnf ;dGjo ;ldltsf] sfof{no d"u"

s0ff{nL k|b]z 

hDdf 

hDdf 



cfly{s aif{ 2075.76 sf] ah]6

l;=g+ sfo{qmd jf cfof]hgfsf] gfd ah]6 lzif{s g= of] aif{sf] hDdf ah]6
cfufdL cfly{s aif{sf nfuL 

cg"dflgt ah]6 ?
s}lkmot

1 cg"udg tyf d"Nof+sg vr{         -k|zf;lgsf vr{_ 3658013 500000.0 100,000.0

2
lh;; sfo{;+rfng vr{-OGwg,sfof{no ;fdfg,dd{t 

;Def/,lalaw cfbL_ 3658013 1000000.0 2200000.0

3 lh;; kbflwsf/Lx?sf] a}&s eQf      -k|zf;lgs vr{_ 3658013 300000.0 700000.0

4
lhNnf leqsf :yfgLo txx?sf] aflif{s ;ldIFf k|ltj]bg-

k|zf;lgs vr{_ 3658013 300000.0 500000.0

5 lh;;sf kbflwsf/Lx?sf] kfl/>lds ;"lawf-k|zf;lgs vr{_ 3658013 2353000.0 3,000,000.0

6
lh;;sf sdf{rf/LnfO{ tnj,dx+uL eQf,kf]zfs,b"u{d eQf -

13 hgf nfO k|zf;lgs vr{_ 3658013 7039000.0 8500000.00

7

lh;;sf ga lgjf{lrt kbflwsf/Lx?sf] ;]jf ;"lawf ut 

cf=a=df e"QmfgL x"g g;s]sf] elg dfu ePsf] /sd 

e"QmfgL -k|zf;lgs vr{_ 3658013 2245000.0 0

8 cWoog cg';Gwfg ;DaGwL k|ltj]bg tof/ ug{] . 0 0.0 2500000

9 se{* xn lgdf{)f l*kLcf/ tof/ tyf lgdf{)f 0 0.0 5,000,000.00

10 lh ; ; sf ljleGg ejg tyf sDkfpG* dd{t ;Def/ 0 0.0 1,500,000.00

11 kmlg{r/ tyf lkmS;/ 0 0.0 500,000.00

12 d]l;g cf}}hf/ tyf ;e{] ;fdfu|L vl/b tyf ('jfgL 0 0.0 100,000.00

13737000.0 24600000.0

g]kfn ;/sf/ 

;+3Lo dfldnf tyf ;fdfGo k|zf;g dGqfno

lhNnf ;dGjo ;ldltsf] sfof{no d"u"

s0ff{nL k|b]z 

hDdf /sd ?


